Missing Numbers

[ I can solve missing number calculations.

Fill in the missing numbers.
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Missing Numbers Answers

Question

Answer

1. Solve these Calculations:

al 64515 =43

b|94s7 <1 =287

c| 940 = 20 = 47

d| 848 + 16 = $3

\

e| 98943 =23

fler2+12=s6

Maths | Year 6 | Addition, Subtraction, Multiplication and Division | Long Division | Home Learning Task: Missing Numbers

visit twinkl.com



Missing Numbers

[

I can solve missing number calculations.
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Missing Numbers Answers

Question Answer

1. Solve these Calculations:

a| 3692+ 26 =142

b | 9954 + 42 = 237

c| 9738 + 12 = 54

d| 7665+ 35 =219

e| 43380 1S = 292

fl3s7s+13= 278
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Missing Numbers

I can solve missing number calculations.

Fill in the missing numbers.
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Missing Numbers Answers

Question Answer

1. Solve these Calculations:

al| 687212 = 85228

b|792 = 20 = 39.60

c|l 962 + 24 =19.28

d| 978 < 27 = 36.22

e| 4358 =+ S0 = 27.16

| 6992 + 16 = 433.975
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